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Let f: R - R be defined by f{x) = 3x*-5and g : R = Rby e =741 1 thmgﬂfﬁ |

- - 325
| 3.2 32 3 D =
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Let the relation R bo dﬁﬁncd in'N by aRb if 3 -+ 2b = 27 then Ris

(A) {(1,12),(3,9), (5, 6), (1,3, 0, 0} V2
®) (2 D, ©.3.65.0.7) \o

/(ﬁ;'i(l 12), Q .9, (5 '501 +2}

® o 5]“ o, @9, Wf”l}ﬁ '%{Jsma:z,-f«ceﬁﬁi)

Let f{x) = sin 2x + cos 2x and g(x) = i I, then g(f{x)) is mvertlh]e mn the duma 1‘*:

b

3] @scfof] ©0x[F] "'%E[%‘:ﬂ

o -2 - ' ' o -n:'
The co h‘ﬂpnmtfvenfﬂ'lestatement _ EL>5 ,‘?ﬂ >3 o

“Tf two lines' do not mterswt in the sa%é ;lane then %'&{y are parallel is
(A) If two lines are not paralle.l ﬂien tha}r ciu not mt&rser:t in the same plane,
(B). If two lines are parallel then the,y do riot mtersect in the: same plane.
Iftwu lines are not parallel T.hen they mterse:nt in the same plane
D) If two lines are parallel then they intersect in the mme_p]ane

The mean of 100 nhsewatmns 18 Sﬂ am:'l thmr st&ndard dewatmn i5 5. Then 1he sum of

squares, of all observations is : .
(4) 250000 ® 2550000 - (©)5 50000 o) zsz'suu 7

fiR>Randg: [0, ) = Ram dﬁﬁne:d by 17[;-:) 2 and g(x) = \J'_ Whmh one nfﬂw
_ following is not ot true?

o2 GOT
(A) (fog) @=2 {B} (gof) [-1} =2 {CJ (gof) (4]'%' (fﬂgl {-4)

c3
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7. If A and B are two matrices such that AB =B and BA = A then el
(4) AB | (B) 2BA ;. (OAFE Y .

8. IfA ’=[ ’ Ik 3 2__k ] is singular matrix, then the value of 5k~ k? is equal to

A -4 - @®6. () 4 (P9 ;6
é‘»‘l K34 -g =4 ' £l
- =SK H’?ﬁ 3}2'6 area of a triangle with verlices (-3, ﬁ), £3: ﬂ) and (0, k) is 9 s9. units, the valie _“fk Ig

(A) - © 9 s L
SKkdy 2 3 "G/B/W o 3 2 ?«ﬁ |
O

K'?'L' P o "TP]‘B
' 1 a ¥ i, -

1 b bz‘ andA = | be ca. ab | then i "KC—"Z) é)

_ Ioecol ..-.ahc-:-. "?_x-:v: ,

(a) ﬂl"‘“*ﬁ'g M=Jﬁ C) A be \D)*”-‘*l;m |
SREN Tl ,ﬂ,q | )
- @ EE,I P8 Uj‘abﬂ.t Lﬁ L&J@ ; i

gl ’J“mﬂ (122

281 W v R an, a

(AL} 1+a2 . {B) ] _-az o (C} El' .': (D)_

e}
a3

If.ﬁ =

]

ﬂ.n

1% b
1- If si “l( here ax e {-:El 1) then the, value ofxis
2a

2 % ;

12. _.The':.-.rélﬁe'-df |

! 1 —smx+'-'-1 +.8in ¥ Ehss ( .EJ g8
m_l[ e
i _"—__I e A 1 + sin xJ whfarex E” ﬂ. P A

e e s i 5x+ =g
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13. Ifx[-z:!+y[,___1. ]=[ ]thenthavalueﬂfxandyare : > "_'H S-
fB)F-"r}f B
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14, If the function is Mx) = ;II_,'Z’ then the point of discontinuity of the composite ﬁ]“‘ﬁllu 14.
f{ﬂ:\}] is Ft( ') i b,:‘;"ﬁ :.'I-"l‘?- '
y= = L = o -J‘.aﬂ_ 5""‘5‘15" | 4
Wi ®) 5 D2 i
m;u\-b%ab +@?ﬁf5 & %
' 1 5 T
dy\? +@@%+‘cﬂ m‘t\%ﬂ
I5. H‘:,r=a5nn+hnos.t then y2 4 €L is.a
Ay~ b sjm (‘1"-‘) . C%Qﬂ:i,) +I::F~Ci)
' . (A) function of » and y 2 . - nstant '!
(C) function of x- . (D) function of y - "
16 I =1+me+ 200, “f““‘;‘“ -2) P +x“th¢nf“(l)" | A
o ' Fangl - . . i
‘fﬁﬁ afg:- B}ai {13>f’2“-I R /- ¢ n‘?'._l}zﬂ,-l. (D) ﬁ{nj 1}2"*}’
| N (ntD 4 Aln-Dieedoa n:r:. ]
Torpy P T e A -
17. IfA= S S AT - Ith-%B= Lo
L-tanoz - JE ARST e _
(AJ c,os!wz I @B smimfz a | {C} w’z AT (r.r} mslwz A _
B id: : e
o (Sec) UM% W T
IE. 115'1.:-s.1|:1“J (I Jand*v tan"‘[ ‘IZJ than | ' | '
) zd ) | &.'tn.“_ g : . .-I ; . a | .. < .'l.l" -.
1+x2 f@?”"’ S gt o -
19. The ﬁmcnnn f{x} cntxls dlscnntmuous on every pumt of tha set | . E\
- (A) x={2n+1}2,nEZ} - " {B} {IL'_‘IJ.EZ} LR | ll
'-x—n,.n Zy e D) {x=2nm; ¥
x=nmne }1 oM ( ){x 2n.ﬂ;.,_n5_2} o :
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= ' cissa is 4 i '
Iﬁ f‘ = |. When the rate of change of abscissa is 4 timg,
that of its ordinate, then the quadrant in which the particle lies is

(A) Morty (B) Morl (C) Torlli (D) Mor IV

20. A particle moves nleng the curve T

21. An cnemy fighter jet is flying olong the curve given by y = =2 +2. A Wld';m‘ R placed
(3, 2) wants to shoot duwn the jet wien it {s ncarest to him, Then the nearest distance ig
(A) 2 units (B) /5 units (C) A3 units (D) /6 units
513 _ 2 -2 Q= 1
22. f % -] — b
) R e A
(A) 4

®) 3 ORI

. 4

23, f -\,-’cusec.r— sin x dx=

ot Yonx 3% N
: -3:er o ot S sin x

]:__@_“..m.}(zi} 2\! mx+C « - (H +C L () sinx+C O~ —+C \
St - Lohx S Sm. o %& : ' oo L H
(@ ﬁmﬁ?—” -. é‘fﬁm i e

If f{x) and g two- ﬁmctmns with g(x} =% and fag {x) 1'3 ~—5then f‘{x] = -

w x3 , =J_
‘?)«”555-.1: 5 . . i
(A)-xz—g = (B}] 1(1 {1} (C} 3x1+3 S D 3;%+—' o Aol

_ £(R)= - %6
; ' ' ' ‘-jf? o gt.) & %3 = J- £(H) +l£
25. A cm:ular plate of radius 5 cm is heated, Due to €xpansion, 1ts radms increases at the rate Df
* 0.05 cm/sec. The rate at which its area is mcreasmg when the radins is 2 cmis
(A) 5.057 cmfsec @'ﬂ 41 20.0;

3

52 mem?/sec .5 ».*1
(C) 5.2x cmzfsec :

26.

5
s'18°given by '3=¥- I8t+5 -

3
The acceleration when the particle i comes to rest is '

(A) 12 m?xsac (B) 18m¥sec.” - (C) 3 m¥sec,

| (D) "lﬂlmi.'fsg:.p;
% . ; : Spnce (ETB Rmtgll Work 'I _ 5 :‘3&_‘&%# L%.
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| e . ‘x% - \ela l
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Th& distance *s’'in metars rravelled b}r a partmie in ‘t” seconds T@ox
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X lan x
27. f
5CC X - cosee 1

(A) nf2 ) n¥2

28. S-2v+xide=
N

W 5 E T T+ 2log | (e~ ) #\EF B AR 4 C -
|
B) 5= \V5-2x+:2+ 2log | (s~ 1) + /5 2e + 22 | +:C -

//;%% \S—2x+x2 4+ 2log |.{5.:3+'.1)+-~Jm |+C

aﬁ% VS-2ehxttdlog|GHDF NP -2F5[#C

22, ."’I+3.¢._in3x+8¢oszx dams S &

() Etan (2‘2”) +C | (B) .;'tan‘l (@) +C
-  {C) étén'l 2 tar.tl,x}+(.'.!l ' : (D) tan“(ztgn'%) +C

Litontec _
‘T qjﬁg:——g—x '

- 30. f['x3+3x2+3.r+3 +(x+r)ms(,-;+1))dx-=
-3

(A) 4

(C) n/d {ﬁ} w4

B) 1 (€) 0" .. | fD}'-S;
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| 31 The degree of the differential equation ..
I+ —EJZ (d.rzT - 'Ildx3+] is | ' 5 _ ._-:-_:f- i o HE
W B @e i ya o
FP R e e I L R B
(A) ;and b are coincident, . - (B) Inchnedtoeach ﬁtharatﬁﬂn : .“- '

—_—

A e o T

; — - . oA .
(©) % rd:5 e pmpend;.cular- Ly {D} 3 andhara pam]lei '._ e

© 33, 'mecompnnmtuf: mthedn:echonofthevecturl +j +2]’Els . {H-l Ay '
1. ;. z ,‘=.~ ’

Gk

| . _- ,:,._.'.f" {D} ﬁ

34' 11: . anrval (ﬂ m’l], amﬂ Iy mg betwmﬂlecuww 3'-= tanx and? cutxand thle X—axis. :
- (A) 41“338q umts '. ’ ,'..:.3' @) logzsq umts.“ R
) 3]0g25q I.m:ts gk fD}Elogzsq l.lnlts

.:.-I . el e :;.I,_- I.-'_-:. S Y g (RS .
_.. -l = ab e -H'II'"'.'. ST

. _35._-. - The areanfme reg1m1 hounded b}- thg]me !r'“x s 1 and ﬂ!&hnesx 5 3 and;.,: =f5 13 : ; £

(4) 5 s nits. D e {B) ?sq unifs. §of)

; . i a2, Bk .S _ .L-:_-.. _
(ﬁ})/)fﬂsq umts . (D} 9& ¥
RN squmts : _.-——*‘r”%'-- S :
eF % e e N
31_5 If a-curve passcs ﬂ1rough Ihe pomt (1, 1) and at an},r pumt (x, ) on the cffve, t%é pmduct,gf
ﬂlf— SIOPC of its h’}ngent and x co-ordinate -::-f the: point is. equal to the y cn—urﬂmate of the
pﬂmt ﬂ'.lﬂﬂ ﬂ]ﬂ {.'-I]I"'.-"B 3130 PﬂESES fhrough thﬂ Pﬂ]m ! ' R ; : i
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|
o x__ﬂ z=3
‘: 37. The length of perpendicular drawn from the point (3, =1, 11} Lo the ltnc 7=""3 4 is
| & (A) \fﬁ (13) \j‘53 (C) \I’E (D} '\r_ :
i ]
¥ ‘i . :
4’ 38. l']{q: cqum mn of the plane through the points (2 i,0) (J 2, - 2] andl (3,1, 7) Is !
i (A) m T\rd 2e—T=10 "7( Jy—; 5=0 S~1840 -5 Il
]; (C) In=-2y+062-27=0 {IJ} 2e=3y+4z-27=0 - Ei
¥ \}“Q \)ﬂ b~ 6 - g

i 39. The point of intersection of the ling x 4+ | = L 2 Wlth the plane 3x + 4y + 5z = 10
; is
(A) (2,6,-4) (B) (2,6,4) (€ (-2,6,~4) (D) 2,-6,-4)
+0.
plane is
(A) Zx=y-+2z =0
(C) 2x—y+2z+1=0

If (2, 3, =1} 1s the foot of the perpendicular ﬁ'am (4 2, }toa planf:, then the equation of the

(B 2x+y+2z-5=0
D) Zx+y+2z-1=0

41. ]’:x T;:lz + ]‘5 : l-:n}l2 = 144 and I_'a’Jé#-then IT:”IE equal to -

BOR: ®) 4 .:c;. 12 =
e By

42. H3+25+3¢=0and |

(@ 8)+(B D)+ (Zx) =4 (Bn )
then the value of A is equal to

(A) 4 (B) 6 (C) 2 D)3

43. Ifaline makes an angle of X 3 with each X -and Y axis then the acute angle made by Z-axis is

(4) 2 L ®E ©F
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44. Let A= {x, ¥, 2z u} and B = {a, b}. A lunction 'z A — B is selected randomliy. The P

probability that the function is an onlo function is g‘m |
5 | 7 L 6

A) g (B C) g : o .l

@3 35 @3 g-20% g |

i

} | [A}x-f-y‘-‘-'?ix 3y+ﬁéﬂx2ﬂ yaﬂ.-
; gE!:+y5'}'2x 3}f+6£[} .rEﬂ yzﬂ_
|

(’gff+ys_7,zx-3y+ﬁaﬂ,xa_u,_yzu-', T ' '
. (D]'x+::r_% ?,'gx_—-_35r+Eﬂ'l‘},-i;'f_.‘f_;'fﬂ,_!f,%-‘._j:"; .. . ?CE}’[H') _% .
46. IfA andBare eve.nts such that P(A)-'- P(MB) = and PI:BM.}—3then P(B] is PC&} 55@

; , ' P(A)
._(‘AJ;.  . ._(_-BJ;- -.,_.gr;}g % ﬁ;x_l__%

3

47. -A bag contains Zn + 1 coins. It is knu{vn that n of these mms.have head on both sides
whereas the uther n+ 1 cums “are: fait, ﬂnc cmn is Sﬁlﬂcfﬂd at random and tossed, If the

probablhty that toss results in hea.:]s is fé: the.n the value of'n is

CLAVER e @i . ©s . o6
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sin 14°  sin?66° 1an 1350 hﬂi
48, The value of | sin®66° 1an 135° sin? 142 ’"ﬁ-
tan 135° sin? 149 sin? 66°

is
(A) 1 (D) 2 (C) ~1

g ‘ ) | 2. ] :
) ] 49, The modulus of the complex number 52 j E’: 3 Eé _P g:; is '.;‘L =

w5,
\.@% ,

= ;}3/ . 2 2
W TF y 9/{,- © 7 ® 7
- DI T
30. Given that a, b and x are real numbers and a <b, x < 0 then éﬂﬁ' o
g_b a_b ‘a_b | a b
@<y | (B) =3, (2 Bt g @ 2%
5I.  Ten chairs are numbered g5 | to 10 Three. women and two men wish to-occupy one chair
each. First the women choose the chairs marked 1 1 6, then the men choose the chairs from
I‘ the remaining. The number of possibie waysis :
| @GP B xiG, () dgxg, (D) P, x *2,

52. - Which of the following is an empty set? .
(A) {r:x2-9=0,x R} -

st :-{-f?vl' frix?=x+ 2,x € R}
(C) {x:x2-1] =0,xeR}.

(D) {xi®+1=0,xeR)

53, IFfx) =ar+'b, where a and b are.integers, f(-1) =~5 and f3) = 3 then a and & are
respectively o | o
(A) 0,2 g e s O

CD} 2,-3

: 194 ; + 16y o tan 354 ., +logyy tan §9° |
.54, The value of ¢'°810'4n 1*+ logjg tan 27+ logyg tan 3°+ ... +logyg is

@y ®1 - ©o BCE

e
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_@]_..ﬂ_w : % 3}3'5(.‘1-
-3 4= ‘“32:515

i1 TN e

y=ke-d ©@5 ;. o

56. The distance between the foci of a hyperboln is 16 and its":mccntrinity is~f2. Its equaﬁﬂn is

W2-nt=T @ Y-Fen (popay 0 pE-Le

57, If lim sin (2 +x) —sin (2 - .r]
x=0 R

A cos B than the values of A and B rf:spbctwel}’ are
(A) 2,1 ® 11

e 11 _ ) /@ﬁ'z | )_1,2 S
Ced () Qo0
. *@@ﬁﬁﬁ' Qe

Ifa is even and thc nnddle term i in the expanswn uf [ lj is 924 x5, then n 13 cqual to
@ 12 sy ® Boo .

. T T b e B R Ty 4 ]

59, n_"’ term of the series

®p _.Aﬁﬁw._wwﬁr«t it

(D) Tn

0. EP(I I}( )(M)mw th;p,q, e (”“) PCM")

(""’“} are in AP E (B} are nut in GP .
© 'a_re-npt_iq.ﬁ_;l':', “(D)are in GP, " -

E% TR N Space For Rough Work 3
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55, A line passes mugh {2 2] nnr:l is pcrpcndmulur to the line 3x b y =3 Its y-mtercept is

e
B
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